EARAZROREIERT — 2 N—XBISY —F 20155118280 (£) 12@E5H5H

Wl 771 FILL—X C3 5% —#% ‘ [%2] % ‘ [(eErmE] — | 4 (£ 13000 &
[A&4£] 1% :100,000 ™ ~ 23#&:25000M”  33%&:12,000 M  43%&:8,000H ~ 53 :5,000 M
B ®RB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 2 JSH I UL 4 Efgiﬁl 1:(2_6).4 1-1-1-1 | 40.8| — 5 444 E%ﬂg; ()
L:TvAT7boyh— BOvIZXTT1 (-3) [EEliEre
o4 | BARKH 1:26.5 6-7-7-4 |39.5| — 4 489 | REESHE (FH)
2|8|10|F2v3Y /7 4530 (i72) o | @ x-x47
R:HYI5TLIFo N B:T7—LhLyY N 4505
- = HaktE : -3-0- - #lEE (BH)
3l7lg | F—H=v o517 7 i 1.(2263.9 3-3-2-2 | 40.9 9 ;1_142) sz
LT RIAY S w8y B:avs—TrrX KT 7—L4
ELRE . 10-11- - HESHE (FH)
alzlg| xEt—n H o4 L 1.(227).3 10-10-11-3 | 40.0 8 <4+512) il
R:ZAZXHT 1=y 7R B:y—Or/N— i IE
NG I EES :27. -9-7- . — AT (FH)
5 7| AxETRELY 47 LA (12217/28) 9-9-7-7 | 40.9 2 (4327) #;;ﬁ;l;ﬂz
LT RIAVTy IR B:vFhrhTRT Y EvilLy RT7—L
= — s o6 | KHRAE 1:27.8 4-4-4-5 |41.5| — 10 | 461 |EiEEE (EH)
61|17 TI—~1>~ 54.0 T &%) Ly |EHEE
L:wiNygLhTr B:vyvXx—T71FKIL N5
s iERER : ~6-5- — HARE (SH)
7 3la/3L— 6 e 1(.32;4.)9 7-6-5-9 | 41.3 6 <4+252) ;’éﬁg
RiZNAF 21— B UINFE Y — HE IS
N = FENllEGIN : -11-9- — AEZEA (FH)
8 4| TAT=T % i 5 i (12.218/.24) 11-11-9-10 | 41.1 11 ?:332) Ll
RBALINT Ry IR BiI—Y 2 iN—F 4 — i
= LHFE 128. 00— . — E#EE (SH)
9 gl 7UV—7>R # 3 50 1(218)6 2-0-2-7 | 42.7 7 (420) ﬁiug%
2= hR—1 B:L—-ETT77h VDAY ¢ ]
s . B4 | FEER 1:28.8 8-5-5-6 |42.3| — 1 438 | TEEHEE (&)
10|51/ 5 A=D>TF%xy b 54.0 (1) +3) (B) J P N#HR
R:Tw IRy y b BiAH RS =¥ Ty —L
SRR BIFFEIR :29. -7-9- . - #EE (BH)
11lgl11]| T VX o4 ﬁs%.o 1(239)5 4-7-9-11 | 42.1 3 (4:3; i
LBATATv— B:Iviarh- SEHE
@ 1 — S —EBlIEf
13—7+— 2,6,8,(1,11),10,3,5,7,9,4
2= = 2,6,8,1,5,3,(10,11),7,9,4
Jol=5r= 2,(6,8),1,(3,5),(7,10), (4,11),9
43—+— |[2,8,9,10,1,5,(6,7),3,4,11
[ N3
B OB 2 980H 714K 2-10 1,920H % E 2-8 1,810 RPEL ) 2-8-10 12,420H
8 B 2 210M 2-8 3,120 B & 2-10 3,730H K31 2-10-8 76,740
10 340H 8-10 960 B H 2-10 7,570M
8 500M9

ABICOVWTRDTEEERROODE. TR LIV,



